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mfl u', = u, -v

1 - VT&

C2

LLvlUfil u', = c - (4/5)c

1 -(4/5)c(c)

C2

.

‘,I’

t

493PH 111



o1fl u', = ux - "
1 - vu,
c2

= 0.95c + 0.95c

1 + (0.95c)(o.95c)
C2

= 1.90 c

1 + 0.9025
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2muyA  = 2muyR . . . . . . . 11.25
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mB = mAUyA  = mA
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mJlO~UflLMDaJ  (1 _ "y;c,),,, hnammrns  (transverse mass)
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2. draalt'=O.4 mshflXlIl S'mplnot$px=l0  m,y’= 4 m,z’= 6 m 04p11Fh~dJ

x, y, z uamaiIunmu  S &mam% v 9109 S' GhwY~ S Gh n) +500 m/s

91)  -500 m/s R) +2  x lOa  m/s

PlopI n) lO.Zm, 4m, 6m, 4 x 10m4 s PI)  9.8m, 4m, 6m, 4 x 1O-4  s

n) 107.4 km, 4m, 6m, 5.37 x 10m4 s
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